Total No. of Questions—35] [Total No. of Printed Pages—2

Seat

No. [4763]-201

S.Y. B.Com. EXAMINATION, 2015
BUSINESS COMMUNICATION
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (1) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is ‘Communication’ ? Distinguish between Oral Communication

and Written Communication. [16]

2. What is ‘Listening’ ? Explain the principles and barriers of good

listening. [16]
Or

State the importance and essential qualities of good business

letter. [16]

3. (a) Write a complaint letter to the Sales Manager, L.G. Electronics

Ltd. Ghatkopar, Mumbai about received damaged goods. [8]

P.T.O.



(b)

(@)

(b)

(@)
(b)
(c)

(d)
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Write a letter to Mr. Abhiman Patil, P.B. Road, Kolhapur for
collecting information about creditworthiness of M/s Shantaram

Patil, Kolhapur. [8]
Or

Write a termination letter to Mr. Ramesh Chavan, Sukhashanti,
Niwas, Ahmednagar on behalf of M/s Swapnil Industries, B.R.
Ambedkar Road, New Delhi for unsatisfactory work. [8]

Draft an Annual Report of Birla Cement Company Ltd.
Camp Road, Pune on completion of 10 years of production

service. [8]

4. What is minutes ? Prepare the minutes of an Annual General Meeting
of Infossis Co. Ltd. Hinjewadi, Pune. [16]
5. Write short notes on (any fwo) : [16]

Advantages of Internet;
Importance of E-mail;
Contents and qualities of Notice;

Importance of Communication.



Total No. of Questions—4] [Total No. of Printed Pages—16

Seat
No. [4763]-202
S.Y. B.Com. EXAMINATION, 2015
CORPORATE ACCOUNTING
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) (I) Fill in the blanks (any five) : [5]

(2)

(i1)

(4i1)

AS-11 applies to accounting for transactions in

.................................. currencies.

Freight outward expenses are apportioned on the

basiS Ofcueeuieeeieeieieeeeieeeannn, ratio.

Preference shares has preferential right to

TECECIVE. .ottt eeeeeeeeeeeeeeeeeaeaanaens at fixed rate.

P.T.O.
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(ID)

(iv) Holding company’s share in.......cccccceeveeeeeeeeeeennnnn. of the
subsidiary company are to be deducted from the
profits of Holding Company in the Consolidated Balance

Sheet.

(v) The credit balance on Capital Reduction A/c is

transferred t0......coevveeivieiiniieiiiianann.

(VD) e, means formation of a new company
to take over at least two existing companies which

go into liquidation.

(vii) All debts due to.....cccoeeeeeeeerieririnennnnnn... are preferential

creditors.

State whether the following statements are True or False

(any five) : [5]

(i) Convertible preference shares are those which are
not converted into ordinary shares of the

company.



(B)

[4763]-202

(i1)

Long term investments are shown in Balance Sheet

at cost or market value as prescribed by

AS-13.
(iiz) Uncalled liability on partly paid shares is a contingent
liability.
(iv) Preferential creditors are secured creditors.
(v)  External Reconstruction means only one liquidation
and no formation.
(vi) Holding company’s share in unrealized profit is reduced
from the stock and Profit & Loss A/c in Consolidated
Balance Sheet.
(vit) Internal Reconstruction of a company means the
re-organization of its capital.
Write short notes on (any fwo) : [14]
(i)  Accounting Standard (AS)-26;
(ii) Types of preference shares;
(iit) Amalgamation and External Reconstruction;
(iv) Unrealised Profit on Stock;
(v) Compulsory Winding up;

3 P.T.O.



Aaditya Ltd., Pune was incorporated with an Authorised Capital of

Rs. 11,00,000 divided into 1,10,000 Equity shares of Rs. 10 each. The

following is the Trial Balance as on 31st March, 2014 : [14]
Trial Balance as on 31st March, 2014

Particulars Dr. Cr.

Rs. Rs.

Share Capital—Called up 10,00,000
Buildings 7,62,400
Plant and Machinery 5,60,000
Loose Tools 38,000
Preliminary expenses 22,000
Furniture 14,000
Cash in hand 38,880
10% Government securities (F.V. Rs. 50,000) 49,000
Bills Receivable 54,720
Goodwill 63,000
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Motor Vehicles 10,000
Sundry Debtors 83,000
Interim Dividend paid 16,000
Calls in arrears 50,000
Purchases 9,37,000
Advertisement 10,000
Audit Fees 4,160
Carriage Inward 15,800
Wages 51,800
Discount allowed 4,000
Insurance 16,600
Stock on 1-4-2013 1,90,000
General Expenses 640
Salaries 20,000
Sundry Creditors 1,08,880
Reserve Fund 1,70,000

[4763]-202 5 P.T.O.



Deposits

Profit and Loss Appropriation A/c (1.4.2013)

Reserve for Doubtful Debts

Sales

Rent Received

8% Debentures

Bank Overdraft

20,000

63,200

2,000

12,00,000

3,200

3,00,000

1,43,720

30,11,000

30,11,000

You are required to prepare Trading Account, Profit & Loss Account

and Profit & Loss Appropriation Account for the year ending 31st

March, 2014 and Balance Sheet as on that date according to the

prescribed form in the Companies Act, 1956 by taking into consideration

the following adjustments :

(@) The stock on 31st March, 2014 was valued at Rs. 1,80,000.

(b) Create a Reserve for Doubtful Debts at 5% on Sundry Debtors.

(¢c) Provide depreciation on Plant and Machinery at 5% p.a. and

furniture at 10% p.a.

[4763]-202 6



(d) Prepaid Insurance amounted to Rs. 1,600.

(e) Interest on Debentures and from Government Securities is due

and accrued for the year.
(A Provision for taxation to be made at 50% of net profit.
(g) Write off 40% of the Preliminary Expenses.
(h) The directors proposed the following appropriations :
(i) To declare 5% dividend on Paid up capital.
(zz1) To transfer Rs. 5,000 to Reserve Fund.
Or

Deven Ltd. was newly formed with an Authorised Capital of Rs.

50,00,000 divided into 5,00,000 equity shares of Rs. 10 each.

The company issued 2,00,000 equity shares to the public for subscription

at a premium of 10% payable as follows :

On Application Rs. 2
On Allotment Rs. 4 (including premium)
On First call Rs. 2.50
On Final call Rs. 2.50

[4763]-202 7



Applications were received for 1,80,000 shares and all these applicants

were allotted the shares. The directors made all the calls on shares.

The first and final call money was not received on 10,000 shares

from Mr. Anand and final call money on 5,000 shares from

Mr. Badal. The directors forfeited all these shares. Of the forfeited

shares, 7,500 shares were reissued to Miss Asha as fully paid at

at Rs. 7 per share.

Pass Journal entries in the books of the Deven Ltd.

[14]

3. (A) Kashyap Textiles Ltd. was incorporated on 1st August, 2013

to acquire the running business from 1st April, 2013. The following

is the Profit & Loss Account for the year ending 31st March,

2014 : [8]
Profit & Loss Account for the year ended
(81st March, 2014)
Dr. Cr.
Particulars Rs. | Particulars Rs.
To Office Rent 9,000 | By Gross Profit B/D | 1,80,000
To Staff Salary 15,000

[4763]-202 8




To Director’s fees

To Debenture Interest

To Carriages

To Audit Fees

To Depreciation on
Assets

To Interest to Vendors

To Office Expenses

To Publicity Charges

To Printing

To Discount Allowed

To Bad Debts

To Net Profit c/d

4,800

5,000

3,600

1,700

24,000

3,000

4,800

18,000

3,600

6,000

1,500

80,000

1,80,000

1,80,000

The following additional information is also available :

(i) Sales for the year were Rs. 6,00,000 of which sales upto

1st August, 2013 were Rs. 2,50,000.

[4763]-202
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(i1)

(ii1)

Purchase consideration was paid to the Vendor on 1st

October, 2013.

Of the total Bad Debts Rs. 500 were related to debts

prior to Incorporation.

Prepare a statement showing profit prior to and after incorporation.

(B) The following Balance Sheets are presented to you : [14]

Balance Sheet

(as on 31st March, 2014)

Liabilities Bharti Devi | Assets Bharti Devi
Ltd. Ltd. Ltd. Ltd.
Rs. Rs. Rs. Rs.
Share Capital : Fixed Assets 5,00,000 | 90,000
Equity Shares of Stock in Trade | 3,00,000 | 50,000
Rs. 10 each 7,00,000 | 2,00,000 | Debtors 1,70,000 | 80,000
General Reserve | 2,00,000 — | Investment :
[4763]-202 10



Profit & Loss Alc

8% Debentures

Trade Creditors

1,80,000 —
— | 1,00,000
1,20,000 | 1,50,000
12,00,000 | 4,50,000

8% Debenture

acquired at par in

Devi Ltd.

Shares in Devi Ltd,

15,000 shares at

Rs. 8 each

Bank Balance

Profit & Loss A/c

60,000

1,20,000

50,000

30,000

2,00,000

12,00,000

4,50,000

Bharti Ltd. acquired the shares of Devi Ltd. as on 1st July, 2013.

The Profit & Loss Account of Devi Ltd.

showed a debit balance

of Rs. 1,560,000 on 1st April, 2013. Trade creditors of Devi Ltd.

include Rs. 30,000 for goods supplied by Bharti Ltd. on which Bharti

Ltd. made a profit of Rs. 2,000. Half of the goods were still in

stock on 31st March, 2014.

Prepare a Consolidated Balance Sheet with detailed workings.

[4763]-202
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4, (A) Galaxy Ltd. went into voluntary liquidation on 31st March,

2013. The Balance Sheet as on that date was as under : [10]

Balance Sheet as on 31st March, 2013

Liabilities Rs. | Assets Rs.
Share Capital : Freehold Property 80,000
8,000, 8% Preference Shares Plant and Machinery 69,000
of Rs. 10 each 80,000 | Stock 75,000
12,000 Equity Shares of Debtors 55,000
Rs. 10 each 1,20,000 | Cash in hand 1,000
5% Debentures (secured Profit & Loss A/c 1,19,000
on Freehold property) 50,000
Income Tax 14,000
Trade Creditors 85,000
Bank Overdraft 50,000

3,99,000 [ 3,99,000

(a) The interest on debentures was paid upto 31st March,

2012.

(b) Preference dividend was in arrears for two years and

it was to be paid.

[4763]-202 12



(c)

(d)

(e)

Freehold Property Rs.

amounted to Rs. 5,000.

The assets realised were as follows :

on all assets realised except cash.

1,50,000, Plant and Machinery
Rs. 62,000, Stock Rs. 73,000, and Debtors Rs. 50,000.

The expenses of liquidation amounted to Rs. 5,000 and

liquidators remuneration was fixed at Rs. 1,500 plus 2%

The creditors include the Preferential Creditors Which

Prepare the Liquidators Final Statement of Account.

(B) The following was the Balance Sheet of Harshad Ltd. as on

31st March, 2014 [10]
Liabilities Rs. | Assets Rs.
Share Capital : Goodwill 1,00,000
10,000, 7% Cumulative Free-hold Property |20,00,000
Preference Shares of Plant and Machinery | 17,50,000
Rs. 100 each 10,00,000 | Stock 2,00,000
3,00,000 Equity Shares Debtors 1,50,000

of Rs. 10 each 30,00,000 | Preliminary Expenses| 3,00,000
Share Premium Alc 450,000 | Profit & Loss Alc 3,50,000
Sundry Creditors 4,00,000

48,50,000 48,50,000
13 P.T.O.
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The following scheme of reconstruction was approved and duly

sanctioned :

(a) Preference shares to be reduced to Rs. 70 per share.

(b) Equity shares to be reduced to Rs. 9 per share.

(c)  Write off all intangible assets and share premium account.

(d) Sundry creditors agreed to waive 20% of their claim.

(e)  Freehold property to be written down to Rs. 16,50,000

Give Journal entries and prepare a Revised Balance Sheet.

Or

The Balance Sheet of Manasi Ltd. as on 31st March, 2014

was as follows : [20]

Balance Sheet as on 31st March, 2014

Liabilities Rs. | Assets Rs.
Share Capital : Land and Buildings 3,00,000
75,000 Equity Shares of Plant and Machinery 2,00,000
Rs. 10 each 7,50,000 | Trademark and Patents| 1,20,000

[4763]-202 14



6,000, 6% Cumulative

Preference Shares of

Rs. 100 each

5% Debentures of

Rs. 100 each

Bank Overdraft

Creditors

6,00,000

2,00,000

60,000

1,50,000

17,60,000

Stock

Debtors

Cash in hand

Profit & Loss Alc

80,000

1,60,000

5,000

8,95,000

17,60,000

It was decided to reconstruct the company and for this purpose

Janhavi Ltd. was registered with a capital of Rs. 18,00,000 divided

into 1,00,000 Equity Shares of Rs. 10 each and 8,000, 7% Preference

Shares of Rs. 100 each to take over the business of Manasi Ltd.

The following are the main terms of the scheme :

(a) The debentureholders of Manasi Ltd. agreed to accept 7%

preference shares in the new company in exchange of their

debentures.

(b) The preference shareholders were to receive one, 7% preference

share in Janhavi Ltd. for every two shares held by them.

[4763]-202
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(¢) The equity shareholders were to receive one equity share in
New Company Rs. 5 paid up, for every three shares held

by them in Manasi Ltd.

Janhavi Ltd. called up the balance of Rs. 5 on the shares issued
to the shareholders of Manasi Ltd. Cost of Liquidation amounted

to Rs. 2,500 which were paid by Janhavi Ltd.

You are required to give :

(1) Realisation A/c, New Company A/c, Equity Shareholders
A/c, Preference Shareholders A/c, Debentureholders A/c in the

books of Manasi Ltd.

(2)  Opening Journal entries in the books of Janhavi Ltd. and Balance

Sheet after reconstruction.

[4763]-202 16



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-203

S.Y. B.Com. EXAMINATION, 2015
BUSINESS ECONOMICS (MACRO)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams, wherever necessary.

1. Explain the scope and significance of Macro-economics. [16]
2. Explain the Fisher’s Quantity Theory of Money. [16]
Or

Explain the process of Multiple Credit Creation by commercial banks.

What are the limitations on credit creation ? [16]

3. Answer in brief :
(a) Explain the circular flow of income with diagram. [8]

(b) Explain the various functions of money. [8]

P.T.O.



Or
(a) Explain the principle of effective demand. [8]
(b) Explain the Demand-Pull Inflation. [8]

4, Explain Dr. Dalton’s “Principle of Maximum Social Advantages”. [16]

5. Write short notes on (any fwo) : [16]
(a¢) Phases of Trade Cycle;
(b) Determinants of Consumption Function;
(¢c) Marginal Efficiency of Capital;
(d) Philip’s curve.

(WS wUIaR)
q% : dF A TR T : 80

gl — (1) WA WA Giefau ofeRds SR
(i) SSElhEld 3w WA qul o <Fifer.
(iii) 3TeRIh dY gosh 3TMhcAl hlal.

(jv) USHIHE W TS UTAAAh] TRE.

1. Yuussl kel st ST Hed TR R [16]
2. fmR = ‘SouwwermE’ faga T &1 [16]
ferar

a3 aX ulal

SR dh=l qdHiHd Ul T 4. YdHHdele HIlel I 3Ted  ?
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3. dHd SW A o

(31) IUTAT THIBR AR AThdids TIIHIU H. [8]

(@) Wmmen fafay w@ T w4 [8]
fepar

(31) YuEl HAEOE d@ W & [8]

(&) Trmt qor Afda =eq faar T &% [8]

4. Sl Teed I@ ‘HEdw wHiSe @Y da’ fwie w [16]

5. dieda fowr four (v dF) o [16]

(31) SAUHERTAT AT,

(9) UG ®ed RAUR  HIH;

() Hredort HHEr I THd;

(¥) Trom o.

[4763]-203 3



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-204

S.Y. B.Com. EXAMINATION, 2015
PRINCIPLES AND FUNCTIONS OF MANAGEMENT
(Business Management)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is management ? Describe in detail the various managerial

levels. [16]

2. Distinguish between Taylor’s Scientific Management Approach and

Fayol’s Administrative Management Approach. [16]
Or

(a) What is Decision-making ? Explain the various steps in Decision-

making. [8]

(b) Define Recruitment. Discuss the wvarious sources of
recruitment. [8]

P.T.O.



3. (a) What is direction ? Explain the various principles of

direction. [8]

(b) Explain Fredrick Herzberg’s motivation hygiene theory. [§]

Or
(a) State the barriers to communication. [8]
(b) Discuss the various techniques of co-ordination. [8]

4, What is Social Responsibility ? Describe the various social responsibilities

of business. [16]

5. Write short notes on (any fwo) : [16]
(a) Modern Indian Economic Thoughts of Mahatma Gandhi,
(b) Essential qualities of a Leadership;
(c) Steps in the process of control,;

(d) Managerial skills.

(WS wUIaR)
q% : o\ A TR T : 80

gl :— (1) WA WA Giefau efeRds SR
(i) SoEwSie H YO O Fiew.

1. ST FUTS hTF ? HAEATYATAT Tafae] Urdesdn fera ) Gfeedt e 4. [16]

[4763]-204 2



~

< .

[4763]-204

2. TR A ‘TG FIEIE’ gRIGH N hAle AT WRIEE T e’
TR IHEHE T T L [16]
ferar
(7)) foim w0 mom w ? ol afeadie fafay o (2W) W=
+q. [8]
(F) =i =ren foer. s fafay a@mi=n ==t & [8]
3. (3 T wmuw s ? fmen fafoy 9@ Tos . [8]
() ‘thefe T’ It "iecwl fSTrafauges AfWaven faga’ wuse
. | [8]
ferar
(31) IS 3T€Ues | 8]
(&) wH=Iren fafgy dsm=n ==l w4 [8]
4., gHIfSTer Sl WS i 2 FI9Erl fafdy 9Hifsier Saeeral T

[16]

3 P.T.O.



5. dieqa four fogr (o @F) [16]

(37) wWerem MR A= oMY uRdE enfYe foem;

(9) HAJcrd 3TeRIS T,

(%) frEw gfeadie 9=

(T) TR HEH.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No. [4763]-205
S.Y. B.Com. EXAMINATION, 2015
ELEMENTS OF COMPANY LAW
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Define “Company”. State the characteristics of a company.
Explain the special privilege to private company as per Companies

Act. [16]

2. What is prospectus ? State the contents of prospectus. Explain the

effects of mis-statement in prospectus. [16]
Or

What is share allotment ? Explain the conditions and procedure of share

allotment. [16]

P.T.O.



3. () Explain the statutory provisions regarding the appointment of

Directors. [8]

(b) Distinguish between Managing Director and Director. [8]

Or

(a) Explain the statutory provisions regarding compromise and

arrangement. [8]

(b) Explain the procedure of voluntary winding up by members. [§]

4, State the importance of Annual General Meeting of a company. Explain

the secretarial duties relating to Annual General Meeting. [16]

5. Write short notes on (any t{wo) : [16]

(a) Directors Identification Number (DIN);

(b)  Reconstruction and Amalgamation;

(¢c) Duties of Liquidator of a Company.

(d) Minority Protection.

[4763]-205 2



(TS TUTaR)
9% : W A ThUT TOT : 80

o :— (i) Wd WA Afer s
(i) ¥|E YEAM 99H O SR

(iii) USHEIE! HB3 TUSH TZTUAHRl TRIE.

1.  “&u SR <ol Rl IS WA Ul B ER W SO
THau== foRIo Hoodl T & [16]

2.  HIfGdush U H ? HIGd I Helehl FITl. Hied oo sTHe faeamm
UM T 7. [16]

fepar

AT 9e9 WU i 2 U deurAl 37 STfUl hREiugdl TS . [16]

3. (31) HUA HAGHE AHH HOAEETA HUA HRCAS WG] T

. [8]

(9) =Toe Haiow oAU HeEies Ao e T . [8]
fepar

(37) Tesiie Nl aed FaH= FERIR TRl = H. [8]

(9) IGESgR wvgrd =1 Ufess guT=iniom=it SEdugdl s
H. [8]

[4763]-205 3 P.T.O.



4.  HUHAT Ot FAEIERU 9T Heed M. SNftieh TR0l F9Eael faeuiar

FTATgdl TIE . [16]

5. dew@ fow four (woem@ |@F) [16]

(31) Ao 3eed HwA®  (DIN)

() YA F TehaAThu;

() ol TRl hded;

(8) STcquEehia feaveron
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [47631-206

S.Y. B.Com. EXAMINATION, 2015
BUSINESS ADMINISTRATION
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Organisation. Explain the characteristics of Organisation.[16]

2. Discuss the concept of promotion. Explain the stages of business

promotion. [16]
Or

Define joint venture. Explain the advantages and disadvantages of joint

venture. [16]
3. () Explain the characteristics of Business Objectives. [8]
(b) State the process of company formation in India. [8]

P.T.O.



q5
T

1.

Or
(a) Explain the objectives of quality circle. [8]

(b) Explain the role of Government in prevention of Industrial
Sickness. [8]

Define Globalization. Explain the features and disadvantages of
Globalization. [16]

Write short notes on (any four) : [16]
(@) Types of Co-operative Societies;

(b)  Productivity;

(c) ISO-9000

(d) Privatization

(e) Legal Environment

(fA  Location of Plant.

(TS T UITR)
W e TRUT 70T : 80
— () W WA Gefau HAEvEEh .
(i) SodwSE % gEE quf o qEif.
(iii) TRYEE H3 SUST YLTUlhl TRTEl.

‘TEea=l’ e gl wueamn afyre fawn [16]
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2. ‘o9 YNl 9=l %4, o9 "adara fafay eW e U [16]

feRar
‘T WRE’ A 9. 9gE §REd hEe d did 'R [16]
3. (1) IRl et Ayt W % [8]
(9) vRaHA IReEl YHee’ A=l wrEiugydl forl 8]
feRar
(31) ‘IO g™ 3eW TR H. [8]

(@) SiENfe TeRUTERHidd  SUEESHeEd ST fie w9
E [8]

4. STMTfdeh IR o=l e fefgl. SMIfdehih o=l afyrse 9 die T %d.  [16]

5. dieRn fou fag (so@EE Ww) [16]
(1) WEHM FEE TR
(s)  SIeh;
() F.THE.3A. 9000;
(8) TSR,
(3) PR Wi
(%) HREFr=A A Hore.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-207

S.Y. B.Com. EXAMINATION, 2015
BANKING AND FINANCE
Special Paper 1
(Indian Banking System)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain in detail the structure of Banking System in India. [16]

2. Explain the arguments for and against Nationalisation of Banks in

India. [16]
Or

Explain the progress and performance of Private Sector Banks in

India. [16]

3. () State the functions of State Co-operative Banks. [8]

(b) State the recommendations of Narsimham Committee II (1998). [8]

P.T.O.



Or
(a) State the performance of Regional Rural Banks. [8]

(b) State the functions of Primary Credit Co-operative Societies. [8]

4, Explain in detail the functions of Reserve Bank of India. [16]

5. Write short notes on (any fwo) : [16]
(@) Urban Co-operative Banks;
(b) Scheduled and Non-scheduled Banks;
(c) Non-Performing Assets (NPA);

(d) Principles of Co-operation.

(WS wUIaR)
q% : dF A TR T : 80

gl — () WA WA Giefau efeRds SR
(i) SoEwSie H YO O Fiew.
({ii) TEUERS Hos TUST YIAUCAHR! TRIE.

1. YRAAIe s Fad™ YUMol G Gfasl T2 . [16]

2. YRANI® S TSSO N a9 ol sen gimar e w3, [16]
feRar

YAl @TSFl dehiel Ydt o1for shEf) Tose . [16]
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8. (31) U HERI ki<l hrd HIL [8]

(7)) Rfdeq @fafa 11 (1998) =0 RTwRsh @ 8]
fenar

(31) URRTH T St wHEAE G [8]

() wufas F YaELAr=l FE A 8]

4., 9 ford dot w@ wfaeR e F1 [16]

5. dewa fow fea (wvem@ dF) [16]

(1) A HehI o,

(F) oygfed 9 foR orgfaa e

(k) Tiftka wiemm (N.P.AL);

(8) UEHNEl I
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-208

S.Y. B.Com. EXAMINATION, 2015
BUSINESS LAWS AND PRACTICES
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the powers and duties of officers of “State Marketing Board”
under the Maharashtra Agricultural Produce Marketing (Development

and Regulation) Act, 1963. [16]

2. Define Co-operative Society. Explain its features under the Maharashtra

Co-operative Societies Act, 1960. [16]
Or

State the objectives of the Multi-State Co-operative Societies Act, 2002.
Explain the powers and functions of Chief Executive under the

Act. [16]
P.T.O.



3. (@) Describe the procedure of Fire Insurance. [8]

(b) Explain the importance of Insurance. [8]
Or

(a) Explain the terms of Marine Insurance Policy. [8]

(b) Procedure of receiving amount of Insurance claim. [8]

4, Explain the objectives of Life Insurance Corporation. State its constitution

and powers. [16]

5. Write short notes on (any {wo) : [16]
(a) Insurance and wager,
(b) Surrender value;
(¢) Features of Marine Insurance;
(d) Measurement of Insurable value.
(TS wUl)
q% : Wi A ThUT TOT : 80

ol :— (i) Wd WA RIS Rd.
(i) 3EREl® 3T WA qU U SFfod.
({ii) USHEIES H3 TS YFUhl Tl

1. WRR FHl 390 aeR gibdt (fasem 9 fafEme) weEer, 1963 <8 T

el fafer decren U iR oTful ded T & [16]
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2. TN T HARA 9. HERTE TR & &G, 1960 3Tad Ol

e dfiTeey T &L [16]
feRar
TE-UoF TEh FEA AT, 2002 = I WM. A1 FACHAd & HbHR]
R YRR 9 ®E TS & [16]
3. (31 ofafam Smfavar=t wrRiUgd @A [8]
() fo=m #ga fome *a. 8]
feRar
(37) W fom A SRRde STel 9. 8]
(@) forma 99 fHesfauamt wrEugd. 8]

4. fem fgm e e e Fu. fo=t dfear onfor sifeser @rm. [16]

5. diewm fon fem (FoemE €M) [16]
(s1) fom efor Ssm
(%) wHdu qeH
(F) W faem iy

() foumjear=n AEe.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-209

S.Y. B.Com. EXAMINATION, 2015
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term Co-operation and explain the nature and scope of

Co-operation. [16]

2. Explain the growth and progress of Multi-state Co-operative

Societies. [16]

Or

Explain the role of Co-operative movement in Rural Development. [16]

3. () Explain the need of Multi-state Co-operative Societies Act. [8]

(b) Explain the effects of Globalization on Rural Development. [8]

P.T.O.



Or
(a) Explain the progress of Housing Co-operative Societies in India. [8]

(b) Explain the importance of ‘Panchayat Raj System’. [8]

4, Explain the thought and work of ‘Dr. Dhananjayrao Gadgil about
Rural Development’. [16]

5. Write short notes on (any fwo) : [16]
(@) Objectives of Rural Development;
(b) Structure of Panchayat Raj;
(¢c) Concept of People’s participation in Rural Development;

(d) Globalization and Rural Development.

(WS wUIaR)
q% : o A TR T : 80

o :— (i) Wd WA disfau ofewds  Sied.
(i) SoEheld e qu U gEifer.

1. EEHRE A 9 HERRE ©WEY 9 AWl TR R [16]
2. TE-USd TEHR GEAEN gEl S Wl T . [16]
feRar

T foRmEd WEhRl dduid AN TR R [16]
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3. (31) TF-TU UEHR T HOCAE TRl T H. 8]

(&)  SIETfdehiehTome U0 foshEeRial 9RomMH T K. [8]
feRar

(31) YRAWe TEfE ekl Heer= Wi e . [8]

(9) Yord TS Ugdd W T TR OH [8]

4. ST ¥EVIUd e I UH fakmEEeds famar onfor & T
7. [16]

5 dewd foor fom (fvaE | F) e [16]

(31) U faewmEEl e,

(4) YoEd TS ggdrel T

() U fawEda i TgUTTel HeheuHT;

(8) Smfdehisheor effor urfior foehra.
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Total No. of Questions—35] [Total No. of Printed Pages—7
Seat
No. [4763]-210
S.Y. B.Com. EXAMINATION, 2015
COST AND WORKS ACCOUNTING
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. @A)

Fill in the blanks : [5]
(i)  Cost Accounting is based on................. Figures.

(1) An item of cost that is direct for one business may

be..oeiiiiiiiiieeeeee, for another business.
(iit) Re-ordering level = Maximum consumption X .............cceeeee....
(iv) Store Ledger is maintained in the....................cccel.

(v) In Taylor’s differential piece rate system...........cccceeeereennnnnn.

piece rates are set for each job.

P.T.O.



(B) State whether the following statements are True or False : [5]

(i)  The scope of Cost Accounting includes cost ascertainment,

cost presentation and cost control.

(i1) Fixed cost per unit decreases with rise in output and

increases with fall in output.

(iit) Workers are remunerated according to time under piece

wage system.

(iv) Personnel department is responsible for computation and

payment of wages of workers.

(v) Job evaluation and job analysis are the same.

2. State and explain the main differences between Financial Accounting

and Cost Accounting. [15]
Or

What is Cost ? Explain the classification of cost in detail. [15]

3. Write short notes on (any three) : [15]
(z) Centralised Store;

(i1) Weighted Average Price Method;

[4763]-210 2



(ii1)

(iv)

(v)

4. (A)

[4763]-210

Inventory Ratios;

Piece Rate System;

Labour Turnover.

The accounts of Z Manufacturing Company for the year ended

31st December, 2010 show the following :

Particulars

Factory Office Salaries

General Office Salaries

Carriage Outward

Carriage on Purchases

Bad Debts

Repairs of Plant, Machinery and Tools

Rent, Rates, Taxes and Insurance :

Factory

Office

Amount

Rs.

6,500

12,600

4,300

7,150

6,500

4,450

8,500

2,000

P.T.O.



[4763]-210

Sales

Stock of Materials :

1st Jan., 2010

31st Dec. 2010

Income Tax

Materials Purchased

Travelling Expenses

Traveller’'s Salaries and Commission

Productive Wages

Depreciation :

Plant, Machinery and Tools

Furniture

Directors’ Fees

Gas and Water :

Factory

Office

4,61,100

62,800

48,000

500

1,85,000

2,100

7,700

1,26,000

6,500

300

6,000

1,200

400



(B)

5. (A

[4763]-210

3 1
Manager’s salary (Z Factory and - office) 10,000

4
General Expenses 3,400
Dividend 1,000
Prepare a Cost-sheet of Z Manufacturing Company. [15]

On the basis of the following information, calculate the earnings

of A and B under Taylor’s Differential Piece-Rate System.
Standard production : 8 wunits per hour

Normal time rate : Re. 0.40 per hour

Differentials to be applied :

80% of piece-rate below standard

120% of piece-rate at or above standard.

In a nine-hour day, A produces 60 units and B produces 80

units. [5]

The following transactions occur in the purchase and issue of

a material
Jan. 2 Purchased 4,000 units @ Rs. 4.00 per unit

Jan. 20 Purchased 500 units @ Rs. 5.00 per unit

5 P.T.O.



(B)

[4763]-210

Feb. 5 Issued 2,000 units

Feb. 10 Purchased 6,000 units @ Rs.

Feb. 12 Issued 4,000 units

March 2 Issued 1,000 units

March 5 Issued 2,000 units

March 15 Purchased 4,500 units @ Rs.

March 20 Issued 3,000 units

6.00 per unit

5.50 per unit

From the above, prepare the Stores Ledger Account by adopting

FIFO method of charging material issued.

[10]

Calculate the material turnover ratio for the year 2010 from

the following information and determine which of the two materials

is most fast moving : [10]
Particulars Material X | Material Y

Rs. Rs.
Material in hand on 1-1-2010 75,000 2,62,500
Material in hand on 31-12-2010 45,000 1,87,500
Material purchased during the year 5,70,000 3,75,000




Or

Calculate the total earnings of the worker under Halsey and

Rowan plans.

Standard Time : 10 hours
Hourly Rate Rs. 2
Time Taken 6 hours.

[4763]-210 7



Total No. of Questions—35] [Total No. of Printed Pages—8+2

Seat
No. [4763]-211
S.Y. B.Com. EXAMINATION, 2015
BUSINESS STATISTICS-I
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt AI questions.
(i1) Figures to the right indicate full marks.
(izi) Use of calculator and statistical tables is allowed.
1. (A) Attempt any four of the following : [2 each]

(a) For the given data, Mean = 160, Mode = 157 and S.D.

= 50, find Karl Pearson’s coefficient of skewness.

b)) If
M'l = 5, M'Z = 30,
calculate variance.

(¢) Define Additive model from time series.

P.T.O.



(B)

[4763]-211

(d) State whether each of the following statements given below

i1s True o False :

(i) The partial correlation coefficient lies between

0 and 1.

(ii) For a positive in skewed distribution, mean, median

and mode are equal.

(e) Give any two real life situations for multiple regression.

(/Y What do you mean by an extrapolation ?

Attempt any #&wwo of the following :

[6 each]

(a) Calculate trend values of 3-yearly period of moving average

from the following time series :

Year

2000

2001

2002

2003

Profit (000)

242

250

252

249



2004 253

2005 255
2006 251
2007 257
2008 260
2009 265
2010 262

(b) Determine an initial basic feasible solution to the following
transportation problem by using North-West Corner method.

Also find corresponding cost of transportation.

Source Availability
D, D,y Dg
04 16 19 12 14
Oy 22 13 19 16
O3 14 28 8 12
Requirement 10 15 17

[4763]-211 3 P.T.O.



(¢c) The first four raw moments of a frequency distribution are
-0.11, 0.89, -0.11, 2.33 respectively. Comment on the nature

of Skewness and Kurtosis.

2. Attempt any #fwwo of the following : [8 each]
() If
Cx) = x3 — %2 + 85x + 10
is the manufacturer’s total cost equation, find :
(i) the average cost
(ii) the average variable cost
(iizt) the average fixed cost
(iv) the marginal average cost

(b) (@) The following is the information on employment and

education :

Employed graduates = 286
Unemployed graduates = 48
Employed ungraduates = 450

Unemployed ungraduates = 216

[4763]-211 4



Compute the coefficient association between the attributes

employment and education and comment on it.

(i1) Obtain dual of the following linear programming

problem :

Minimize 2z = 30x; + 20x9

Subject to :

20x; + 30xy > 100

40x; + T0xg > 200

X1, X9 > 0

(c) Using Lagrange’s Interpolation formula to find the value of

Y when X = 2.

X Y
1 4
3 12
4 19

[4763]-211 5 P.T.O.



3. Attempt any #fwwo of the following : [8 each]

(@)

(b)

(c)

[4763]-211

Using simplex method, solve the following L.P.P. :

Maximize 2z = 10xq + 5x9

Subject to :

4 + Bxg < 100

5361 + 2362 < 80

X1, X9 > 0

Given the following information :

3?1 = 170 9 H ’
61 = 24, G9 = 27, 03 = 27,
rig = 028, rig = 049, rgg = 051,

Obtain the equation of least square plane of x; on x9 and

xg. Also estimate x; when x9 = 161 and xg3 = 169.

Find initial basic feasible solution of the following transportation

problem using VAM. Transportation cost per unit from different



origins to destinations is given (in rupees) :

Origins Destination Availability
I II I11 v
I 7 10 14 8 30
II 7 11 12 6 40
I11 5 8 15 9 30
Requirement 20 20 25 30
4, Attempt any #fwwo of the following : [8 each]

(@)

From the following information calculate G.F.R. and T.F.R.

[4763]-211

Female No. of Female No. of
Age Group (000) Births
15—19 32 800
20—24 30 3420
25—29 28 4200
30—34 25 2860
35—39 22 1920
40—44 20 600
45—49 10 10
7 P.T.O.



(b)  The following is the annual premium charged by insurance company

for a policy of Rs. 1000 :

Age Annual Premium
20 23
25 26
30 30
35 35
40 42

Using Newton’s forward difference formula for interpolation,

estimate premium for 26 years.

(¢c) (I) Define time series. Give any two time series from business.

State the four components of time series.

(IT) Define the terms :

(i) Dichotomy class

(zz) Order of class

(itzi) Exponential smoothing

(iv) Autoregressive Model.

[4763]-211 8



5. Attempt any #fwwo of the following : [6 each]

(a) Estimate trend by fitting straight line equation to the following

time series :

Year Sales (°000)
1993 35
1994 56
1995 79
1996 80
1997 40

Also obtain the trend value of sales for the year 2000.

(b)  Solve the minimal assignment problem whose effectiveness matrix

1S

1 2 3 4

I 2 3 4 5
II 4 5 6 7
ITI 7 8 9 8
1\Y 3 5 8 4

[4763]-211 9 P.T.O.



(¢) Compute the CDR and STDR for two populations A and B

taking population B as standard population :

Age Group A B

Population | Deaths Population | Deaths

0—10 15,000 300 10,000 280
10—30 30,000 600 25,000 400
Above 30 20,000 800 15,000 750
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [47631-212

S.Y. B.Com EXAMINATION, 2015
BUSINESS ENTREPRENEURSHIP
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term Entrepreneur. Explain need, importance and functions

of Entrepreneur. [16]

2. What is creativity ? Explain process and tools of creativity. [16]
Or
What is social responsibility ? What are the social responsibility

towards stockholders, investors ? [16]

3. (a) State the remedies of entrepreneurship development in
India. [8]

(b) State problems in business process outsourcing. [8]

P.T.O.



Or
(a) Distinguish between Individual Entrepreneurship and Group
Entrepreneurship. [8]
(b) Discuss the advantages of Self-help Group. [8]

4, What is Service Industry ? Disction between Service Industry, Trading

and Manufacturing Industries. [16]

5. Write short notes on (any fwo) : [16]
(@) Sources of Innovation;
(b) Social and cultural problems in Entrepreneurship development;
(c) Kakinada Experiments

(d) Types of franchising.

(A0S ®UI)
q% : dF A TR T : 80
g :— (i) Wd YA disfau ofeRds .
(i) SeEiwEle oiw ol U gIifed.

1. ‘SESRa’ 91 9T SAREd o SEShdl Al TSI, " STl i T
EXip [16]

2. fAfidiemmar wo s ? fAfddigmasn gfeen snfor ses = 4. [16]
ferar

IS SEERRI US| $E 7 AFYReG, [qaUEheR ATl Wl STHOA

qHTSieh SoeleRl  hioel 2 [16]
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3. (37) 9RAd SEShd=al faw™ =ga JEee S9E 9. [8]

(9) dREdAE Fediids Yihddie IHE. [8]
ferar

() Sgoieh SEIShdl STUT ifger  SESTohdl I ®ish T [8]

(9) @I HerIdl TN GEe 9. [8]

4, ‘O WM WIS S ? Hal SN, FANR SN, ST 3R UM A

Hich T H. [16]

5 dewa foor fowr (s 9F) [16]

(37) -aFfHd= g;
() ekl fawm@ IR AEhdiE ST GHEfSe 3T8¥e TR .
(F) RIS FIM.

(8) TIEEUSRRE YK
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-213

S.Y. B.Com. EXAMINATION, 2015
MARKETING MANAGEMENT
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Marketing Manager ? Explain the role of marketing

manager. [16]

2. Define Marketing Mix. Explain the factors of marketing mix. [16]
Or

What is Consumer Movement ? Explain the role of Consumer Guidance

Society in India. [16]

3. (a) Explain the marketing strategies for services. [8]

(b) Explain the difference between agricultural product marketing

and manufactured product marketing. [8]

P.T.O.



qE
T

1.

2.

Or

(a) Explain “Promotion as a component in Marketing

Communication.” [8]

(b) Explain the principles of CRM. [8]

What is CRM ? Explain the process of building customer
relationship. [16]

Write short notes on (any {wo) : [16]
(a) Features of Agricultural Marketing;

(b) Features of Services;

(¢c) Importance of CRM;

(d) Scope of Ethics in Marketing.

(FE BUIR)
W e TRUT 70T : 80
— () 99 WA drefau sEvds TR
(ii) SSEhele % TIAE qU IO SFifod.

foIqU eI US| w7 TIUUH SHeRAgehTEl i TS k. [16]

faqum o=t =are <1 fauoH fase T Ofaa W &, [16]
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feparr
Uesh Tosded WU kI 7 WRAIdEl UEh HRieEiA HEEl qfHeRr e
EZ [16]

(37) Harea fouAmEREN  Eue W &9 [8]

(9) zdMe faqu sftn Scried o= fauuAnie W e &. (8]

ferar
(1) ‘‘fora g1 fouuH HROEET TE oueE TR H (8]
() TEh Ty HOEIUANT ded T H. [8]

ek TaY HXATT WUN w1 ? Ued: a9 A0 wuamn gfean s

. 16
dred fem fewr (FUEE @F) 16]
(1) e foaumrET SR

() HarEt dfise;

(h) URH Ty FILIAE Hed;

(g) fafaaern fouoArde =,
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-214

S.Y. B.Com. EXAMINATION, 2015
ECONOMICS
Special Paper 1
(Agricultural and Industrial Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Agricultural Economics ? Explain the nature and scope of

Agricultural Economics. [16]

2. What is Agricultural Marketing ? Explain the defects of Agricultural
marketing. [16]

Or

What is optimum firm ? Explain the factors determining the optimum

size of firm. [16]
3. (a) Explain the causes of low productivity in Agriculture. [§]

(b) Explain the factors affecting the industrial location. [8]

P.T.O.



Or
(a) Explain the effect of subsidies on agricultural prices. [8]

(b) Explain the role of industrialization in economic development. [8]

What is Industrial Productivity ? Explain the problem in measurement

of Industrial Productivity. [16]

Write short notes on (any fwo) : [16]
(a) Institutional sources of Agricultural Finance;

(b) Remedies on drawbacks of the Agricultural marketing;

(c) Alfred Weber’s theory of Industrial Location.

(d) Importance of Industrial Economics.

(WS ®aial)

q% : A\ A TR T : 80

o :— (i) Wd WA diefau ofewds  Sied.

(ii) SRSl ek GEAH qU U geifed.

(iii) TEIEIS Yoo TUSH USAUCIRT URTEl.

FHT A WO w7 P AT WET 9 A W HA. [16]
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2. AT fashicexel ®RUS &g ? IdHTA faehicgeaddid S % i, [16]
ferar

T ST WS h 7 SUNEEE UEi| ST RHEN SIUR HEe T

EX [16]

3. (31 AT SHUCHA HH ATUIRET HRO TR H. [8]

(&) 3iEifier TH-fAfyador aftomy som sesh T &AL [8]
ferar

(37) Taua fopAdiedial ST 9RomH T A 8]

(F) onffer fommdia siEnfitnietom=t ofh T . [8]

4., RIS IARHd WIS FE ? AR SARHd "] U T
. [16]

5 dewd foor fom (fvaE | F) [16]

(37) Feit foAReaca s 99;

-~

() Vaue foseasdda Seld SUH;

~
3
~
e
T
3P
)
xJ
=
g

Aehe de=n fgg;
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-215

S.Y. B.Com. EXAMINATION, 2015
DEFENCE BUDGETING, FINANCE
AND MANAGEMENT
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Discuss role of private sector in India’s defence production. [16]

2. Explain relations between war and economy. [16]
Or

Highlight on the limitations and challenges to defence management. [16]

3. (@) Determinants of defence expenditure. [8]
(b) Discuss the effects of war on economy. [8]
Or
(a) Explain the methods of war finance. [8]
(b) Explain objectives of peacetime economy. [8]

P.T.O.



4, Analyse trends in India’s defence spending since 1990’s. [16]
5. Write short notes on (any fwo) : [16]

(a) Mobilization of resources for defence;

(b) Advantages of zero budget;

(¢) War potential;

(d) Role of foreign collaboration.

(WS wUiav)
e : o9 A9 THUT 7T : 80
gl — (1) WA WA Giefau ofeRds SR
(i) SSEHElS fH YU U GFifdar.

1. R G0 SARATG @Sl SgreeHt vEcen fyserea ==t

. [16]
2. g§ oAl AdHaE Aie wdY¥ TR H. [16]

feRar
U GO AR S0 HAiQl Ie) YR 2Tehl. [16]
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3. (3 WyuEdE [ua Hm s [8]

(F) Jgr= AdFeIR TR IROME Iered ==l h. [8]
fenar

(1) ggHet urvgren fafay ggdl s . [8]

(d) JghAH Adeend= e T w0 [8]

4. 1990 FATAT YRAAT WU WAl JUSH (Fd) d@d I & [16]

5. dieqd four fogr (woe@ @F) [16]

(37) TIEUMEES WEAgu=l  Tiaamar;

(F) ITITERA  TdHhed™  AIY;

() IS &H;

(8) Wi HehmEdEl  ften.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-216

S.Y. B.Com. EXAMINATION, 2015
INSURANCE, TRANSPORT AND TOURISM
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Evaluate the marketing policy of General Insurance Business in

India. [16]

2. Describe the organisational structure of Life Insurance

Business. [16]
Or

Explain the working of Insurance Regulatory Development Authority

(IRDA). [16]
3. (a) State the scope of General Insurance in India. [8]
(b) Explain the basic principle of Insurance. [8]

P.T.O.



Or
(a) Explain the essentials of Tour Planning. [8]

(b) State the significance of Tourist Accommodation. [8]

4, What do you know about Tour-Operator ? Describe in detail the

responsibilities of Tour Operator. [16]

5. Answer the following questions (any two) : [16]
() State the various types of Tourists.
(b) Write a note on Historical Tourism;
(¢c) Impact of Tourism on Social Aspect. Explain.

(d) Explain the Pre-Tour Activity.

(WS wUIaR)
q% : o\ A THU T : 80

gl — (1) WA WA Giefau ofeRds SR
(i) oSl H YO O SFie.

1. 9Rdndte ga@ere foq e fooue fei= qeammas w0, [16]

2. G T GoeAHS® @A fRE . [16]
ferar
fom oA foerg iyl (IRDA =) MR T2 . [16]
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3. (3) YNdie TdayRu fowmen =gl §m. [8]

(9) fo==t fgeaed T A [8]
feRar

(31) ICN-THESHA= STeRdsh o6l ToE . [8]

(d) wHeh-frearaeeRd Hg. [8]

4. ITAT- SATATSToh qEES AU h1A O[T ? ATAT-SATSTRAT TSGR FioT&R
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Total No. of Questions—?5]

[Total No. of Printed Pages—4

Seat
No. [4763]-217
S.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATION
Paper 1
(Visual Basic)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Neat diagram must be drawn wherever necessary.
1. (A) Answer the following questions (any four) : [8]

(1)

(2)

3)

(4)

(5)

What is Constant ?

Define Expression.

What do you mean by Array ?

What is Event ? List any #wo events used in V.B.

What is Status Bar ?

P.T.O.



(B) Give the output of the following section of code

(any two) : [8]
(1) Dim str as string
Dim 1 as string
Private sub command_click( )
str = "Visual Basic"
i = len (str)
Print 1
End sub
(2) Dim sum, no as integer
Private sub command_click( )
sum = 0
for no = 1 to 10
sum = sum + no
Next
Print sum

End sub

[4763]-217 2



(3) Dim i as integer

Do while 1 < = 10

Print 1

loop

Attempt any o of the following :

[16]

(i) Explain in detail the use and working of progress bar

in V.B.

(i1) Explain the steps to connect with access database using ADODC

control.

(zit) Write a short note on menu in V.B.

3. (A) Write the purpose and syntax of the following (any four) : [8]

() Time( )

(i1) Len( )

(iii) Right( )

(iv) Message box( )

(v) Replace( )
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(B) Write properties and methods of the following (any two) : [8]
(i) Combo Box
(i1) Picture Box
(1i1) Text Box

4, Attempt any #fwwo of the following : [16]
(i) Explain For .............. Loop with example.
(ii) Explain Data Report Facility in V.B.

(iiz) Explain the different data types in V.B.

5. Attempt any #fwwo of the following : [16]

(i) Design a V.B. form to calculate total, percentage and grade.
Display six text boxes for reading marks of six subjects and
a total, percentage and grade button. Write a program to calculate

total, percentage and grade.
(ii) Explain file open, save, print, color Dialog box in V.B.

(i1) Explain any four numeric functions in V.B.
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-218

S.Y. B.Com. EXAMINATION, 2015
(Vocational Course)
COMPUTER APPLICATIONS
Paper III
(Theory)
(RDBMS)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (1) Draw a neat labelled diagram wherever necessary.

(i1) Figures to the right indicate full marks.

1. Explain the following terms with syntax and example

(any four) : [12]
(a) Alter Table

(b) Delete

(¢) Max( )

(d) LTrim( )

(e) Order By Clause.

P.T.O.



2. Explain the following with examples (any four) : [12]
() Arithmetic Operators
(b) DDL
(¢c) Unique Constraint
(d) Like Operator

(e)  Subquery.

3. Attempt the following (any four) : [16]

(a) What is E-R Model ? Explain in brief key elements of
E-R Model.

(b) Explain with example the following building blocks of computer

based databases :
Field, Record, File, Database.
(¢) Write a short note on PL/SQL.
(d) What is Normalisation ? Explain in brief.

(e) Write a note on RDBMS.
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-219

S.Y. B.Com EXAMINATION, 2015
(Vocational Course)
ADVERTISING, SALES PROMOTION AND
SALES MANAGEMENT
Paper III
(Advertising and Media Planning)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What do you mean by Service Advertising ? Explain the elements

of Advertising Copy for Print Media. [12]

Or

What do you mean by Media Planning ? Discuss the factors to
be considered in Selecting Advertising Media. [12]

P.T.O.



2. State and explain the different methods of evaluating advertising

effectiveness. [12]

Or

What are the career prospects in the field of advertising ? [12]

3. Write short notes on (any fwo) : [16]
() Branding
(b) Media Frequency
(c) Advertising Strategies

(d) Internet Advertising.
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Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [47631-220
S.Y. B.Com. EXAMINATION, 2015
(Vocational Course)
TAX PROCEDURE AND PRACTICES
Paper III
(Income Tax)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any five) : [10]

(2)

(i1)

(ii1)

(iv)

(v)

Explain Gross Total Income under Income Tax ?

Who is called senior citizen and super senior citizen ?
What is meant by cultivation of land personally ?

When ‘An Individual’ and ‘Company called as non-resident’ ?
What is meant by CII under Income Tax Act ?

P.T.O.



(vi) What is IInd Appeal ? Which authority is called IInd Appelate
Authority ?

(vii) Explain ‘Previous year’ and ‘Assessment year’.

(viiz) What is meant by ‘Rectification’ ?

2. Answer in 50 words each (any two) : [8]
(i) How is the long term capital gain computed ?
(ii) What is meant by block of assets ?

(iii1) Is it compulsory to file Income Tax Returns ? Enumerate due

dates for submission of returns ?

(iv) Who and when is liable to pay Advance Tax under Income

Tax Act ?

3. Answer in 150 words each (any fwo) : [10]

(i)  What is meant by H.R.A. ? Who and when can claim exemption
of HR.A. ?

(i) What is meant by short-term capital gain and long-term capital

gain ? How is it computed ?
(i) What is meant by income from other sources ?
(iv) What is ‘Revision’ ? What are the types of revisions ?

4, Enumerate and discuss various kinds of assessments ? What are

the provisions and time limits for completion of assessments ? [12]
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Or

Compute total income and tax payable by Mr. Rambhau for A.Y.
2014-15 from the following details :

(i) Basic Salary ¥ 40,000 p.m.
(ii) D.A. @ 30% of Basic Salary

(iit) Employers contribution to P.F. 87,360. He contributes equal

amount.

(iv) He has let out house property received rent I 15,000 p.m.,
Municipal Value 3 1,00,000 paid Municipal Tax I 10,000.

(v) He has fixed deposits in bank received interest ¥ 50,000, Dividend
from Indian Co. ¥ 8,000.

He paid LIC premium < 10,000, Education fees for 3 children
T 50,000, T 30,000 and T 20,000 respectively.
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Total No. of Questions—2] [Total No. of Printed Pages—2

Seat
No.

[4763]-221

Time

S.Y. B.Com. EXAMINATION, 2015
(Vocational Course)
COMPUTER APPLICATIONS
Paper IV
(Theory)

(Software Engineering)

(2008 PATTERN)

: Two Hours Maximum Marks : 40

N.B. :— (1) Draw a neat-labelled diagram wherever necessary.

(i1) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(@)

(b)
(c)
(d)

(e)

What is Data Flow Diagram ? State which symbols are used
for DFD.

Explain Waterfall Model in detail.
Explain the types of Fact Finding Techniques.
Explain the concept of Decision tree with example.

What is a System ? What are the elements of System ?

P.T.O.



2. Write short notes on (any four) : [20]
(@) Input Design
(b) Software Engineering
(¢)  Structured English
(d) System Analysis and Design

(e) Data Dictionary.
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-222

S.Y. B.Com. EXAMINATION, 2015
(Vocational Course)
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT
Paper IV
(Personal Selling and Salesmanship)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define ‘Personal Selling’. Explain advantages and limitations of personal

selling. [12]

Write notes on : [12]
(i) Elements of Marketing Mix (any one).

(ii) Types of Salespersons.

P.T.O.



2. Write in detail process of selling. [12]

Or

Write notes on : [12]

(i) Types of customers (any six).

(it) AIDA model of selling.

3. Write short notes on (any fwo) : [16]
(i) Sales Manual
(it) Problems in Selling
(iii) Types of Markets

(iv) Rational Buying Motives.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4763]-223

S.Y. B.Com. EXAMINATION, 2015
(Vocational Course)
TAX PROCEDURE AND PRACTICES
Paper IV
(Wealth Tax, Service Tax and Central Excise)

(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(1)  On what Excise Duty is charged ? Define “Excisable Goods”.

(2) Write down the constitutional validity for “Central Excise” and

“State Excise”.

(3)  Who is “customer” and who is “service provider” under Service

Tax Act ?

(4) What is the incidence of Service Tax ?

P.T.O.



(5)

(6)

(7)

[4763]-223

What do you mean by “Valuation of Assets” under W.T. ?

Whose wealth is chargeable and whose wealth is not chargeable

under Wealth Tax ?

What do you mean by classification of Goods under CETA

1985 ?
2. Answer in 50 words each (any two) : [8]
(@) Give the difference between Central Excise, Customs, Sales
Tax and Octroi under Central Excise Duty Act.
(b) Write note on HSN or “Special Economic Zone” under Excise
Law.
(¢) How is the tax liability determined under Service Tax Act
and Rule ?
(d) Write down the “Return” procedure under W.T. Act and
Rule.
3. (A) Answer in 150 words each (any two) : [10]

(2) Write down the framework and an overview of CETA

1985 in brief.

(ii) Write the “Payment” procedure under Service Tax

Act.



(z1z) State the “Deemed Assets” under Section 4 of W.T.
Act.

(zv) Which assets are taxable u/s 2(ea)(i), 2(ea)(iii), 2(ea)(v),
2(ea)(vi) of W.T. Act. Also write down the specific

exceptations under these sections.

4, Answer in 500 words on (any one) : [12]

(@) Write down the basic procedure of Export under Bond and

Cenvat Credit procedure under Central Excise Act.

(b) State the Assessment Procedure and Return procedure under

Service Tax Act and Rule, 1994.
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